mm‘

.M|DA;MLQIJ|4._J|)|A.2g|b)|)).39&“~lgump.b4a|)|))c33‘5&)')){-«\‘»4&1}?—‘

- -

[=at%

=a+c¢
(uL»T) (Uau)) uLSVY W-lb}b)g &o."-ulM,Jb)a-P:u{duas) (6).&);_' f'-q.")
- 4»)? -y
b
] b
d 5
a
e—r}

(OWoT) (s> QS V5 i - 30l 5 (5155 - o g2hid 57 = pyws o) (5 3a2 5, plel)

.p-.*:‘su-"M}HM')I))lJL&)b){-«‘»Q)’f_Y'

(fwgia) (gw)> QLS VY 4o - 1> o Rozr - Dlaitee 9 15 2 = poxity Juad) (S a2 4 pledl)

- 4...»)? -r

(b gio) ((gw)> QUS VY dis - JIs 0 3 338 O pud - Olaizee 9 )15 p2 - p2miy o) (S b 2 pledl)

_«V»Q}f—b

Pl bl sl == s ==

(Bamngio) (igm > DS VS 9 VI domias - 113 s Uslio - it 9 15 o - ooty Jo) (6 30 2 plell)

-«\‘»Q}f—?
O—V)XVA-
Ll I
0
2 A=Pge—(1o+Fotlah)=]o¥

Olgs) (w03 QLS FF 5 FY dxiuo o (J31> 49lj - b o2ho iz - pow Juad) (S ju x pled)
2l ol 4 ilize sladyglj - s 4y S -V
JAF—=FX=0Xx+¥ = IX=)A- = x=V-
Ll OX+ ¥ = XY+ =)-F

y=1A-—)-F=V§

Ulgs) (0> QS VY doriuo - 0l2i 9 (S)lg3 - 2o 35z - poas Juad) (S jud 1 pled)



